PMC PAID PRACTICE TEST 02

SOLVED

Q.1 Suppression of lonkzation means
A. Decreasing lonization B. Increasing lomzation
C. Mantmiming lonization D. None of these
0.2 an element or its compound Is first __ to get its spectrum by
speciromeler
A. freezed, continuous B e &d, line
m D. volslired. continuous
043 Is a macromolecule found in hlog

C. creatimine
04 |Fe(UN)]" is called as
A. Complex compound

C. Anion D. Complex anion
Q.5  Allotropes arc of s -
A. Compounds B. Molecule§

: _ D. Element
Q.6 b T mond-substHtuted bénzcne are plssible?
. : B H|;-:_-:'

D. Nogé of these

Q.7 tion with valence electrons?
H. Chemical bond
D. Intramolecular forces
0.8 0 olgnft prd when a metal is dipped into
B. A base
. D. Water
(0.9  The unit of electr
A R B. Kilojoules
C. watt D). no unt
Q.10 Which of the lollowing give silver mirror test?
A. Butanal B. Methanal
. Ethanal BRAL of these

Q.11 Acetic acid is soluble in;

BN Water, Alcohol, Ether B. HCI, HBr, HI

C. Bronmune water D. All of these
Q.12 If Water is present on a cup placed on a table, what will be the system in this
case?
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A m B. Water in cup

. Whole table 1. All of these
»

.13 Alkali metals group lies in
A d-block
C. 1- block 3. P- block

Q.14 Kinetic Energy is the sum of
A. Rototional & V |hr'ﬂmnui B. Translation & Rotational
ol and Translabon S EREY IR RIS

.15 In NaC Icryal:l. u:lllnrhle lons present at the face center are distributed in
A. One Unut Cell B. 8 Upit cells
C. 4 Unit cells |
Q.16 Actual vield is alwavs less than theoretical |
A. Operatonal losses B. reactiogyrayersibility
C. side reaction
(.17  Legumine & collagen protein are \

A. Cardiac I: \
cre rnpuhln

eCiron |L|.i:"

(.18  The increase in size of
!J' proton- "?q-n

4 U cell

D. all of t

-"5 e of botly tssues:

on s due Inln

A. electron-proton
C. electron-nuclew
Q.19  Graphite has
A. B:Hs

D. BN

-life is inverseld proportional to the

3 Zero Order
D. Third Order

D. None of these
.23 What Is the color of silver acetylide, AgC=CAg?

A. Red
C. Brown
0.24  Non polar covalent bond is formed b/w

D. Pinkish

B. heteronuclear diatomic molecules
D. dissimilar atoms

A. homonuclear distomic mo

C. sumilar atoms
.25 In a pressure cooker, bolling point of water Is

L
-
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.26

Q.27

(.18

0.29

Q.30

Q.31

Q.32

Q.33

0.34

Q.35

Q.36

. Raised than the n B. Lower than the normal
C. Lower than the freezing pomnt D. All of these

A polymer called Bakelite Is formed by reaction of phenol with
A. hydrogen B. ethers

C. carboxylic acid D). formaldehyde]

The temperature at which one crystalline form changes to other Is called
_lemperature

A. entical B. absolute

m D. none of these

Fuels with higher octane number can be produce by
A. Cracking

C. Decomposition
Which one of them Is used as an automgbile
A. Ethanol
thvlene glveol |

How meta directing groups aflect the

W
L]

anti

A, Increase electron density,
B. Decrease electron denss
C. Make benzene less feactived

D. Both B and |

In case of HOCWCHCH:COOH,.[)
A OH groypyis giver \

B. Carboxvhic acid 1s given Number | position

IO eiwen number positio

DH 15 given number 4 poSition:

v calgnliting ifTerence in liguid pressure and
B. glass pressure
L atmospheric pressure D. contmner pressure

Rate cons s denoted by?
“ B. kr
C. kv D. ks

Which of these h
A. Combustion

psitive value of enthalpy?
B. Neutralization
D. All of these

Instantaneous dipole Is produced when ?
A, Two polar molecules come closer

C. Polar and nonpolar molecule comes closer

D. All of these

How will the conditions be changed to prevent the volume of the given gas from
expanding when its mass Is increased

A. Temperature and pressure increased
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0.37

Q.38

Q.39

Q.40

Q.41

Q.42

Q.43

Q.44

Q.45

Q.46

Q.47

Q.48

Q.49

B. Temperature is lowered and pressure decreased

FRLNE and pressure 1mnd |'|.,'.I'-3|.'|.r

D. Temperature 1s lowered and pressure increased

In Lucas test, tertiary alcohols form olily layer of alkyl halid ?
A. On heating B. Immediately

C. After 5-10 minutes D. After 20 munutes

Water is considered as a Universal solvent because of which properties?
A. Polar nature of water B. H-bonding

C. Electronegativity difference m

Which one of the following enthalpy change Is alwayvs exothermic in nature?
A. Enthalpy of combustion B. Enthalpy of solution

C. Enthalpy of formation e ny of alomization

Octane number of n-heptane Is

C. 40
Which of the following Is nol

Bl

omiatic? \

A. Anthracene N

. Phenol D. None of these
Which of the carboyslic acidls psed in medicine €loeal irritant;
AL formuc acid B. acelic acud

C. benzoic acid D. amino acid

mbahells or sub gnergy levels is

D.
islable compound, the attractive forces will
VT the system will be -

Al B. domunate, minimum

C. D. recessive, lower
What is t cand order of SNy reactions?
A2l B 1,1

.0l 13, 0,2

What will be den Loat Cand 1 atm

A. 7138 g/em’ B. 0.7138g/dm"

C_07138g/cm’ | D. 71.38g/dm’

Fused Bauxite Is electrolyzed to get

A. Sodium B. Magnesium
D. lron
Which of the following alkyl halide s most reactive towards Mg atom?
A, Alkyl bromude B. Alkyl fluonde
C. Alkyl chloride D. Alkyl iodide}
Boiling point of hydrides of 4th period is larger than T

A 5th penod m
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Q.61

C. 6th period D. 7th peniod
sodium-11 has electronic configuration

A. [He]’s' B. [Ne]'s|
C. [Ne]'s’ D. [He]'s”
When are the prefixes ortho, para, and para used?

A In alkynes 1o identily the position of tnple bond

B. In arenes to wdentify the position first substitution

. In arenes (o wdentldy the posiiion second substifution

. In all hydrocarbons to identfy the position functional group
Which of the following Is an example of aromatic carboxylic acid?
A. Ethanoic acid B. Biliudoic acid

C. Adipic acid D. Phthalic acid

IT Kp and Ke have same values An will
A. Maximum Pl iy
C. Zerol
Which is sold as fertilizer
A Casi0y

D, Mab
maoles of Ag:CO3

C. Cad PO

Calculate mass in grams of 869
A 1-”7_535

C. 3456.78g

TR0 &

B.2 5d4g
D. |:.=|.srsg
BIOLOGY

The process ol determining the lo¢us for P
. j_l alion

iological traits includes?
B. pcpfnbimnation

L. genée mapping ) ), none of these
Th cell wall of xylem Is termed as:

A tohesio B. tension
I, imbibition

C. adhdS!
Gametes in animals are produced by which of the following?
B. meiosis

A mitosig —
D. nll of these

. fission

A neural pathwa controls an action reflex Is called:

A. Nerve cell

C. Receplor cells D. Mixed nerve

Who discovered the bacteria causing tuberculosis and also developed varlous

techniques of media preparation and maintenance of pure culture?
\. Robert Koch B. Lows Pasteur

C. Alexander Fleming D. leeuwenhoek
The ability to pass on genes is defined as which of the following?
A. Differential reproduction B. Evolution

C. Natural selection m
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Q.62  The first actin spectrum was obtained by?

A. T.W Engelmann B. Malleus
C. TW Inws D). W Stapes

.63  Pancreatic zvmogens are only activated when they reached at?
A. stomach B. pancreas

(C_small intesting D. large intestine

Q.64 Proteins and liplds are converted into glycolipids and glveoproteins by adding
carbohydrates bhy?
A. nbosomes B. cvtoplasm

m D. endpplasmic rebiculum

Q.65 What is the color of Xanthophyll pigment?

C. Orange

Q.66 What type of atom Is a carbon atom?
A Divalent
C. trivalent

.67 The spinal cord is part ol:
A bran B Central nervous syvsie

C. periphernl nervous svstem D. son un
Q.68 Which one of the awing ismust likely to occur in during puberty?
« broaden

A_ He produce , B. His shoulder
C. The colaug of his ‘ I None of ].!
ribé

Q.69 The besiflindtion of co \
n! feasg the size of theant k
epr lm: sysl

i.:l p in the functionng of

for the development ol

Q.70 Wharsir hg- eparationhetween two sarcomeres?
A_ 1 band B. H zone
C. A band D. 2 line

.71 Number of subst es converted into product by one molecule of
enzyme active sit t time is called?
. lurmover nimber B. substrate number
C. reaction number D. none of these

(.72 lIcosahedral Viruses have how many faces?

B.30

C. 10 D, 40
(.73 Ribonucleoprotein particles are the name of?
A. RNA B. DNA

C. Nucleus D. Fukarvotic ribosomes
Q.74 The homologous organs show similarity in

A. shape m
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Q.75

0.76

Q.77

Q.78

Q.79

Q.80

Q.81

Q.86

Q.87

C. function D. size

Where does the dark reaction of photosynthesis takes place?
A. Thylakod B. Grana

C. Stroma| D. all of these
Which of the following Is not vestigial organ of man?

A appendix B. cocevx

C. both a and b D. none of these

Which of following system Is segmentally arranged in annelids?
A. excretory sysiem B. digestive system
m D. neryous system

An activated enzyme made of polypeptide chaigand a colactor is?
A. substrate - CORMC

C. apoenzyme 1), holoenzyvme

Which of these is the Munctional univol lunps?

A alveol 3. bic
C.aic-sad D
How many pairs of homolg chromosomes ace pri
AS E. {

“hnl:t_\'penh s Lhe smallpox virus?

B RNA enve
\ .J\ 1
tic cord an i

A Tt J+ !|I_|.____
D.s

2 in funchon & in location

af these a

mtﬂﬁ ||

Chloroph
A. Green plant
C. Ammals

B. Penguin

B. the vaccine 1s too expensive

C. the virus can be controlled through change in hygiene
D. none of these

Thymus is found in human body in —

A. in the medulla oblongata

f the upper thorax

C. both A .md B are correct

D. None of these
When a muscle libre shortens, the following also shortens:
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(.88

Q.89

Q.90

Q.91

Q.92

Q.93

Q.94

Q.95

0.96

Q.97

Q.98

Q.99

A. actin filament B. Sarcomere

C. Both A and B are correct D. myosin

Which of the following Is an ovoviviparous organism?

A. rephiles B. mammals

C. frog D_Duckbill plaiypus

Which among the following defines GPI anchored proteins?

A. Integral proteins of the plasma membrane

B. Proteins that bind to ion-gated channels in the plasma membrane

C. Proteins which randomly bind to lipids of the plasma membrane
asma IIII.‘II'||'J|II||'-'

True breeding variety is produced by which ofthe fnllowing”

A. Cross fertilizanon B. Self-fertilization

C. both a and b Pgone of

Which of the following is an examf
A ankle jerk ‘:‘l \
(C. abdominal reflex

Whalt is the least commen ron lrnnspnrl 1: t

A. non-cyclic electrop flow B. eyelic electron |
C. circular electr iy D. both b andy
What is the lerot] il

0-30em

| &S

ceJn which o pAollowing?

B. Enfloderm

. Mesenchvi

eribes thedlimentary canal of hydra?
i fromthe endodermal cells.

le opening.

of the krebs evele?

A. malate B. succinate
_ D, Tumarate
Chlorophyll molecule contains which lon as a central metal lon?
A Fe™ B.Zn

C. Cu™ D. Mg

Nontoxic vitamins include which of the following?

A, vitamin ¢ B. vitamun b

C. both s and B D. none of these

All of the following are continuously varying traits except?

A. Kemel colour in wheat B. Skin colour in humans
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C. Height in humans [). Tongue rolling in human
Q.100 Which of the following Is 2 unique characteristic of prokaryotic cells?

A. Lack of a cvtoplast

B. Presence of a cell wall

C. Inability to create proton gradients

A transiation sumullaneous o transenption
Q.101 Which bond provides stability to complex carbohyvdrate molecules?
A.C=H H.C=N
€.C-0 D.C—C

(.102 The number of water soluble vitamins 187

Al
C.9
.103 What is the approximate value of the agtive membrig
AL 00TV
C.005V
Q.104 Il we add more substrate to :
afTect on the rate of reactig
A. denaturation
C. composition
(.105 The number ol siag

and it has no

emosynthetic bactena ic baciena

ol the [o e tyjie Telerhs Production is most similar to mitosis?
- B. transformation

D. conjugation

L. binary [
Q.108 Saponifics
AL Unsaturation i H. Avernpe molecular weight ol fatty ac
C. Acetyl numb¢ D. Acid number
Q.109 Who proposed st dgar hypothesis?
B. Dixon
C. Mol D. Drebs
Q110 Which statement best describes the Hardy-Weinberg principle?
A. Recessive alleles eventually disappear in large populations.

B. Expected frequencies of alleles are impossible to predict mathematically.
C. Domunant alleles become more prevalent in large populations.

i large population, the mechamsm of imbentance doe

i . s 3
Y AL Bl A &

Q.111 refers to the breakdown or removal of the capsid

A. assembly B_uncoating
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C. integration D. maturation
Q.112 The epididymis, vas deferens, and urethra are a series of ducts found in which
body system?
A. Endocrine B. Lymphatic
C. Digestive D. Male reproductive
(2.113 The optimum pH for the functioning of the enzyme pepsin is?
B.3
C.4 D5
0Q.114 What Is the name of the reglon where double-stranded single clrcular DNA s
found In the prokarvotic cell?
A. Proton Nucleus B. Nieldus
C. Nucleoplasm D. Nucleoid
(.115 Which condition can be explained by Lamarckism
A. How giraffes got their long neck
B. How humans lost their tal
C. How humans became biped
D. all of these}
Q.116 The idea that opposed
A. Robert Hooke

@ ol ablogenesis ¥ proposed DY

B. Rob&brgwn

, D. lorenz okeén

Q.117 The canal sysiem evelopsdue to which of the falfowing?

H Gastrovs system
\ D). Folding of inner walls
\ 3 a% o bony jolnt?

B. symphysis
D interosseous membrane
hapdcieristic of spermatogonia?
drmatoeytes through mitosis

Q.118

Q.119

The brain that ca s skeletal muscle movements is:
A. Thalamus B. Amygdala
C. Hypothalamus m
2.121 Which type of cell would be the most appropriate for the study of chloroplasts?
A, conducting cell B. penicyele cell
C. photosynthetic cell | D. all of these
0.122 What are the end products of the ETC in animals?
A ATP B. carbon dioxide
C. water D. both a and ¢
0.123 During transport of carbon dioxide, blood does not become acidic due to:
A. Blood buffer

Q.120
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C. Absorption by leukocytes D. Noo-accumulation

PHYSICS

0.124 Centrifuge is used to purify
A | B.H
C.0 D.N

Q.125 The speed v of the waves in the string depends upon the tension F of the string
and m, the mass per unit length of the steing. It is given by

B.v=F/m
C.vim=F D.v=Fx*m
0.126 Momentum of a photon is

A D
D. mv'

().127 The SI Unit for resistance Is7
C. Wati
(.128 The displacement has

A. magnitude only B."igdefion onlt™

(. magmitude and rii-"-"-|l":li_l 1. o Y

.129 The mutual inductlg
AL AC generatog
C. Battery

Q.130 th In.magnk "'.::;__;._-_":__' -'...'..!r‘-".'.“ agnetic force

B. DC generatos

0.131
8. A very low mput impedance
D. None of the above

0.132 [ 7 hours, if a radioactive substance has an average

in half of the active nucler decay

D. Total nucler decay
.133 Electric power s
| ciric work done per umil fume B. Voltage per unit time

C. Electne charge per umit tume D. Current per unil ume

0Q.134 A longitudinal wave Is moving through a medium. Which of the following
statements about direction of propagation of wave and displacement of the
medium is true?

1 of medium = parallel to the energy transfer direction of pro

allel 1o the energy transfer
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B. Displacement of medium = parallel to the energy transfer direction of propagation
of wave = perpendicular (o the energy transfer
C. Displacement of medium = perpendicular to the energy transfer direction of
propagation of wave = parallel to the energy transfer
D. Displacement of medium = perpendicular to the energy transfer direction of
propagation of wave = perpendicular to the energy transfer

.135 The bridge rectifier is preferved to an ordinary two diode full wave rectifier
because
A It peeds much smaller transformer for the same output
B. No center tap required
C. Less PIV rating per diode

.136 Ohm’s law is valid when the temperat off condy

A Very low P ery hig
C. Varving

(2.137 Mass and energy are related o gach ot \h \
A. Newton's law 3. Einsten

C. Coulomb law . hese

The nuclear lorces consit

Q.138

B. Weak {ong

ore D. All of thes

0Q.139 llowino o qualities, is' ol 2flected by phe magnetic field?
: B. Ch magnetic flux

D. Stationarv charpe
yiog the direction nl'nrnpngalinn of light is
B. Radius

0.141 IfN Is the [ a gas in a container. Then number of moles

can be calcula

A N +NA B, NA - N
C.N - NA | D.N = NA

.142 Conslder a car Is ‘elling for one hour. In which of the following cases the
average velocity Is zero?
A. Car travels 20 km due east
B. Car travels 60 km due east, then tums around and travels 40 km due west
C. Car travels 70 km due east

k 1. then turms mrownd and travel n due
Q.143 I a half wave rectifier 15 umd to convert S0Hz AC into DC, IIu-n Il:u- numlu-r of
pulses present in rectifier voltage Is

A 25 B. 50

C. 100 D. 75
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0.144 Em[l becomes equal to terminal potential difference when
A, Curcuit 1s closed B. Current 1s max
IC. Circuit is open) D. All of these
(0.145 A charge is moving with velocity v, it enters a uniform magnetic field B. The
direction of v Is perpendicular to B. What Is the path of the charge particle inside
the magnetic feld?
A. Parabolic
C. Parallel 1o v D. Parallel to E
0.146 Isothermal process can be defined as:...

APV = constant | B.PV - RT

C. P/ V = constant . = Nrl
Q.147 Il we are standing in bus and when conductorsapphy a brake then we feel
A, pseudo force pushes backwards B, pseudo force pushes forwards

C. real force pushes backwards ceal fore®pushes forwards
().148 Displacement Is a

A lensor
C. scalar
Q.149 Strength ol magnetic
A. strength B. flux
C. magnetic flux density D. density
Q.150 The first law oft} 1 mics ca ll."{l as: /
A=Al W 1 = AU =g

rgy are
B. Directly

OF None of these

the yalugnl S

B Im

D. None

a surface, then the magnetic Mux through the

(0.153 The magnetic

surface Is :

A Zero B. Small but not zern

C. Infinite D. Larger than |
0Q.154 X-ray Is the reverse process of :

A. Parr production B. Compton effect

IC_ Photoelectnic effect] D. A & B are correct

(.155 When a body moves in a circle, the angle between its linear velocity and angular
velocity is always?
A. 180 B.0O
C. 9 | D. 45

().156 A particle of mass ‘m” is projected from the ground with an initial speed w0 at an
angle “a"with the horizontal. At the highest point of its trajectory, it makes a
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completely in inelastic collision with another particle of mass which was thrown
vertically upward from the ground with the same initial speed u0. The angle thai
the tumpmlln svstem makes with the horizontal immediately after the collision is
B. 45%a
C.45%2a D, 90°

.157 Three objects are brought close to each other, two at a time. When objects A and
B are brought together, they repel. When objects B and C are brought together,
they also repel. Which of the following are true?
A. Objects A and C possess charges of the same sign, but not B
B. Objects A and C possess -:h.l.rgh of nppmm. s

4 q 3 "
| L1 three olyects possess chary

D. One object 1s neutral
Q.158 Which principle Is used in solar cells?

arge

C. mass
Q.159 A liquid has mass m and sp heat ¢ \ \

temperature of lguld is K it is the rate ich nl from the

liquid.

A Rme | B.R e
C.mc R D). Rm :
0.160 Michelson medsured th - il rd metre in o he wavelength of:
. ~adlg 3 waglet cadiydm light

A ium Light

B. Summulated
Dr None of these

B. Sumulated
D. None of these

.163 The shortest dis o points on the wave that have a phase

betw
e

Lis [ts wavelength?
B. 20 cm
D, 40 em
Q.164 An example of non-ohmic resistor is

A Diode] B. Tungsten wire

C. Carbon resistance D. Copper wire
.165 When the nucleus of an unstable atom emits only gamma radiation, the nucleus
musi
A. Gain energy m
C. Lose protons D. Gain protons

Q.166 Magnetic field lines ereated by current carrving wire Is
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A Helical B. Elliptical

C. Hyperbolic m

(0.167 Ripple factor of hall wave rectifier is
B.0S
C.06 D04
(0.168 A metal rod of length 4 m , velocity Sm/s and magnetic field 0.5 T induced emf is
B. 20V
C. 30V D av
0.169 Find the resistance If voltage of the clrcult Is 45 volts and current 30 Amp?
A. 1.6 ohm B. 1.5 ol
C. 1.7 ohm 1.
(.170 The phase angle between two points Is 3 .
15 cm. What is the wavelength of the wave?
A D em
C.5cm
Q.171 Steady current does not change with resy
A. conductor
C.ume | D. potemial differe
Q.172 A bullet of mass 10 g Jeaves &rifle at an initial ve I{Irlln m/s and strikes
carth at the sam ol with awclocity of 500 m/s. thew svercoming the

ce between these points Is

> q{:m

resistance of o

nt in secondary coil
-II ||| ersely rop gl
D Not cnmugh mfunnnnun

Q.174 econd and Mfth crests is 15 cm, what Is

D 1'3em

ngth assoclated with an electron, accelerated
nee of 200 volts?

B. 0.5nm

Q.175 What Is the de B
through a potent
A. lnm

C. 00056 nm m

Q.176 Consider a car Is travelling for one hour. Which of the following trips have the
same average velocity?
A. Car travels 20 Lm due east and car travels 70 km due east

i, then turns oround and fravel

C. Car travels 70 km due east and car travels 40 km due east, then tums around and
travels 20 km due west
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D. Car travels 30 km due west, then tums around and travels 30 km due east and car
travels 40 km due east, then turns around and travels 20 km due west

Q.177 In a centre tap full wave rectifier if Vim is the peak voltage across the secondary
of transformer, the maximum voltage across reverse bias Is

' v
A.Vm B —
v 2
n s L
C.2Vm 1. —_
3
Q.178 C™ has half-life 5700 years. At the end of 11400 years, the actual amount left is
A. 0.0625 of origumal amount B. 0.5 of ongmal amount
C. 0.25 of onginal amount D. 0.125,0f origmal amount

and 4pF. With which type of

.179 Consider two capacitors with capacitance 21
nt of stored energy than

connection will the 4pF capacitor have a oreater amo
the 2uF capacitor?

A. Sernes

C. Either series nor parallel
Galvanometer is an

R. Parallel

Q.180

“Bliutrosola

R |
ENGLISH

Thev have bee """EEI""IT ypetty issue.

¢ Iriends
cly Issue,

v Flectromechanical device

C. Flectrothermal devic

0.181

Q.182
am studving

D. studied

to me.
B. belonging
D. was belong

(.183 ¢

C. belongs
().184 Have you
A. Take
Q.185 We went 1o the President as a last
A. Recourse
C. Resource
(.186 Mus Rose plan
A. are planmng
C. with a plan
().187 There was
A a.on
C. a... the

B. Took
. Taking

D). Resound
ning to do a course in Biology next week.

D. planning

article about pollution in paper.

2. a..a
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(0.188 Which verb is NOT in the present lense?
A. She I : B. She mlks

L oShe lislened
C. She waits D. She eats
().189 Choose the correct spelling of the word
A. prettiest B. prettyest
C. pretiest D. preenest
Q.190 Sameer In the park every day,
A. mun m
C. running D. walk
(2.191 My parents near Lahore.
A. living B. gedliving
C. lives D). live
(0.192 Sumaira was surprised when her boss didn’t e dinner they had at the

restaurant.

A. buy

C.pay for |
Q.193 The two machines

olher runs on oil.

A. Differemt B. Dnffevenhqgte
D. Differem

N

f considerabh. On maoltor, the

(0.194 Choose the corree] s ce.
A Dd you ﬂ"\"o"lh.ﬂ Ve Ii—._ [y ﬁ".l o,

vou know that they're leaving the city for good r
. g . the city forigdogd”
acity for gdod.

village in

B. an...n... the
D. a..an... the
wbessssennnes Hps for running a really successful web

C.a..a..the

0.196 I'm now going ln@:ﬂuu
site.

B. valueless

D. unprofitable

C. unworthy
(.197 Choose the correcl senlence.

B. “Trust me. | know what I'm doing.” Bilal said. “your car 1s not hard to fix.”

C. *Trust me 1 know what Im doing,” Bilul sadd. “Y our car 1s not hard to fix.”

D. “Trust me, | know what I'm dong,” Bilal said. Your car s not hard to fix.
).198 They will bake the ples. Which tense s used here?

A, Present B. Past
C. Fuure | D. Universal
0.19% None of them able to solve this question.
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AL

C. was D. would be
.200 111 had been thirsty I would have drank the lemonade without waiting for
A B C D
you,
A. 111 had been thursty B. I would have

. drank the lemonade} D. without waiting for you.

LOGICAL REASONING

0.201 Statement
The Statement There is an unprecedented inc g in migration of villagers to

urban areas as repeated crop failure has putghem into precarious financial
situation.

Courses of Action
L The villagers should be provideds _ ELD Mpcome in their
villages which will make them stay pu \ \

1L The migrated villagers sk be providedwith jobs Inuhe delian areas to
help them survive
A. Both of them follows B. Nomgotthem follow
C. Only 1 follows D. Only Mialtaws
Statement:
I. There is unprec
cumparh the p

IL . . ...... &4 submitted pplicastons against an
adverisement for the post ofmanag r issued By bank.

Q.202

ber of ye nemploved in

ber of 1:1

1 Siaf s the cause and s talems ni 11 15 115 effect

i3 w usBwid statcrendt js'its effect
¢ Roth the stateme)) e late indepeddent causes
D. Botlf eS|y efficnts 1 and | effects of independent causes

0.203 Fact 1: A boy have a four ¢
Fact 2: Two oMb ears an
Fact 3: He have one s ar

If the above threeStatements are facts than which of the following statement will
also be a

fact 1. The boy have red sports car

I1. He have 2 corolla

111, His favorite color is red

A. Only land I1 B. Only 11

C. Only 111
0Q.204 Statements: Some papers are pens. Angle is a paper.

Conclusions:

I. Angle is not a pen.
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Q.205

Q.206

Q.207

Q.208

0Q.209

0Q.210

Il. Angle is a PEN
A Only conclusion I follows B. Either I or I1 follows
D. Both [ and II fellows

. Neither 1 nor 11 follows:
Statement:

I. The farmers have decided against selling their Kharif crops to the government
agencies.

IL The government has reduced the procurement price of Kharif crops starting
from last month to the next six months.

A Statement | is the cause and statement 11 1s 113 elTect.

B. Statement 11 1s the cause and statement [ 15 1ts eliecl
C. Both the statements | and 11 are independent cats

D. Both the statements [ and II are effects of iftfe} ‘-.- causes
A competition always has
A. Reward B. Rivals
C. Speclators ' |
Which word does NOT belong
A. index
C. chapter \

Children are in pursuit of a \ James is directly

behind the dog. Rilly's behing James. Rachel Is behing RubvoMax is ahead of
Ale-apposite directie Iu- children and

the dog wal '
J\m ds In behind Ruby.

dog pass, | aroun o jol L it. He
!  alongside the dog on thi 'uhyrungrmteramlh

h child is direetly behind the dog?

pd whose leash has

eradicate co

Assumptions:
tion and prejudice Is goodl.
inistrative system.

IL. There is enough
A. Only assumption 1 is implieit
C. Fither 1 or 11 1s impheit

Complete the series A25, B625, C15625,
B. D364748

D. D390525

D. Both A and

™
s

C. D390524
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